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QUESTION 1

Which statement about a Virtual Chassis deployment is correct? 

A. A Virtual Chassis can include switches mounted in multiple different racks. 

B. A Virtual Chassis can interconnect as many as 20 switches to form a single virtual device. 

C. A Virtual Chassis uses Spanning Tree Protocol between individual member switches. 

D. All member switches must be running the same Junos version. 

Correct Answer: D 

 

QUESTION 2

You are performing a risk assessment on your new data center. You must determine the annual loss expectancy. 

Which two calculations must you use in this scenario? (Choose two.) 

A. single loss expectancy 

B. asset value 

C. annual rate of occurrence 

D. exposure factor 

Correct Answer: AB 

 

QUESTION 3

You want to reduce the over-subscription ratio of an IP fabric between the leaf nodes and spine nodes. Which two
actions will accomplish this goal? (Choose two.) 

A. Add spine nodes to the fabric. 

B. Increase bandwidth between the spine and leaf. 

C. Add leaf nodes to the fabric. 

D. Add aggregate links to the servers. 

Correct Answer: AB 

 

QUESTION 4

Which three statements about Contrail Networking are true? (Choose three.) 
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A. It is used to service chain network functions. 

B. It is used to program physical network functions. 

C. It is used to virtualize and program networks. 

D. It is used to virtualize and program compute. 

E. It is used to create distributed cloud storage. 

Correct Answer: ACE 

 

QUESTION 5

What are two considerations when designing an IP fabric? (Choose two.) 

A. Every leaf node should have an uplink to every spine node. 

B. Leaf nodes and spine nodes should be the same type of device. 

C. Uplinks from servers to the leaf nodes should be 40GbE links. 

D. All spine nodes should be the same type of device. 

Correct Answer: AC 
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